Grade 7 Canada, 1800-1850: Conflict and Challenges - Advantages and Disadvantages Answer Key

Advantages and Disadvantages Answer Key

4 )

Advantages of industrialization Disadvantages of industrialization

e Boosted economy Poor working conditions

o Easier transportation of goods e Poor living conditions

o New markets opening o Lack of social programs

e Demand of manufactured goods « Environmental consequences

e Production of tools and other e Overpopulation in cities
goods for farming

» Restricted Indigenous access to
own lands

o Forced relocation or
displacement of Indigenous
communities

e Decreased need for farmers
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